= Z01=test_FBP_1_SP..PortZ(1)[0]
Z02=test_FBP_1_SP..PortZ(2)[0]
Zs=test_FBP_1_SP..Zs[0]

Zload=test_FBP_1_SP..Zload[0]

my_Sli=test_FBP_1_SP..S(1,1)
my_Sl12=test_FBP_1_SP..S(1,2)

my_S2l1=test_FBP_1_SP..S(2,1)
my_S22=test_FBP_1_SP..5(2,2)
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N Zin_AC=test_FBP_1_AC..in/(-test_FBP_1_AC..SRCL.i)

Gamma_P_AC=(Zin_AC-conj(Zs))/(Zin_AC+Zs)
Gamma_V_AC=(Zin_AC-Zs)/(Zin_AC+Zs)

BN s _new=stos(test_FBP_1_SP..S, test_FBP_1_SP..Portz, {Z01,Zload})

Gamma_L=(Zload-Z02)/(Zload+conj(Z02))

Gamma_in=my_S11+my S12*my_S21*Gamma_L/(1-my_S22*Gamma_L)
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